WARPLAN DROPSHOT Dropshot II (1960’s)
LAND COMBAT TABLE

	Die roll
	1-3
	1-2
	1-1
	3-2
	2-1
	3-1
	4-1
	AE = all attackers eliminated

	1
	AE
	AE
	AE
	AR
	AR
	EX
	EX
	AR = all attackers retreat 1 hex 

	2
	AE
	AR
	AR
	AR
	EX
	EX
	DR
	DE = all defenders eliminated

	3
	AE
	AR
	AR
	EX
	EX
	DR
	DE
	DR = all defenders retreat 1 hex

	4
	AR
	AR
	DR
	EX
	EX
	DR
	DE
	EX = all defenders eliminated and

	5
	AR
	DR
	EX
	DR
	DR
	DE
	DE
	    attacker losses match defenders

	 6*
	AR
	DR
	EX
	DR
	DR
	DE
	DE
	Retreat becomes elimination on 

	* one air unit lost by any side receiving air support
	strategic map


Modified odds less than 1-3 use 1-3 column

modified odds greater than 4-1 use 4-1 column

Modifiers:                 (cumulative)

+1 DRM if marines in Amphibious Assault


Terrain effects DRMs (see table)

2 column right - Allied Naval bombardment in support of Amphibious invasion

1 column in owners favour - each TAC air allocated (Soviets max =2, Allies max = 3 or 4 if AirLand)

Scenario specific turn 1 Soviet column shifts

+1 DRM if marines present in Amphibious Assault (either side).

Soviet Blitzkrieg Tank Armies - +1 DRM attacking

U.S. AirLand Corps - +2 DRM attacking, -1 DRM defending

WG Panzer Corps, Allied Attack Helicopter - +1DRM attacking, -1DRM defending

Magic Marker DRMS (optional, see 5.2 and Magic Marker table)

NAVAL WARFARE TABLE


UNCONVENTIONAL WARFARE

	Die roll
	Result
	
	Mode
	Required roll

	1
	Attacker loses 1
	
	Bio War@@
	1-3

	2-3
	Attacker return
	
	Commandoes *
	1-3

	4-5
	Defender return
	
	Psy Ops @
	1-2

	6-7
	Defender loses 1
	
	Sabotage *
	1

	8
	Defender loses 2
	


return = all units of named side return to friendly port
   * turn 1 only
  @ allies only
lose # = named side loses #) Fleet or Sub units

   @@ Only Soviets have BioWar in Dropshot III – 70’s

Modifiers:       (cumulative)

+1 per fleet attackers outnumber defenders

+1 per additional allied fleet attacking any number of Soviet subs

+1 Allies attacking Soviet fleet (optional Allied seamanship see 9.12)

-1 DRM for Tu-22 or Tu-22m attacks

-1 If Allies attack Soviet Subs within 2 hexes of Cuba (1012) before Cuba conquered or nuked

STRATEGIC NUCLEAR STRIKE TABLE

	Die
	Bombing factors

	roll
	1
	2
	3
	4+
	Bomber DRMs

	0
	Loss
	Loss+Abort
	Loss
	Loss
	-1 per INT in target hex

	1
	Loss
	Loss+Abort
	Abort
	D1
	-1 if air defenses strong (scenario specific)

	2
	Abort
	Abort
	D1
	D2
	+1 if “low” capable aircraft attack

	3
	Abort
	D1
	D1
	D2
	

	4
	D1
	D1
	D2
	D3
	

	5
	D1
	D2
	D2
	D3
	Missile DRM’s

	6
	D2
	D2
	D3
	D3
	+1 DRM: Missiles with a ‘+’

	7
	D2
	D3
	D3
	D3
	


Loss = lose 1 attacking bomber


Abort = all surviving bombers return to bases, no effect on target
D# = additional nuclear damage to hex 

NDM Damage is cumulative from previous strikes

Limit of one attack per phase against a hex exception: French (8.11) or Chinese (8.13)

Bombers kill 1 Hard Target with any result while a ‘D3’ result kills two hard targets in the hex.

Missiles kill 1 Hard Targets with at least a D2 while a ‘D3’ result kills two hard targets in hex.

At least a ‘D2’ cumulative result is required to destroy any fleets in a targeted port.

A D2 destroys one submarine in port or coast hex, and a D3 destroys two submarines.

TAC air, INT air and fleets at sea are never affected by Strategic Nuclear Strike.

WARPLAN DROPSHOT Dropshot II (1960’s) and Dropshot III (1970’s)
CONVENTIONAL BOMBING



  NUCLEAR RECOVERY

	Die Roll
	Result
	
	Die Roll
	Result

	1
	lose 1 bomber air unit
	
	1-3
	Remove 1 damage level

	2-3
	No effect
	
	4-6
	No effect

	4-6
	Oil or Ind neutralized 1 turn
	
	+1 if D2 damage         +2 if D3 damage

	-1 if Int unit in target hex
	Tac Nuke markers are automatically removed during End Phase


WEATHER EFFECTS

	Weather
	Air
	Movement
	Abn/Amphib
	Combat

	Clear
	-
	-
	-
	-

	Mud
	1/2 AP
	-2MP
	-
	-

	Snow
	-1AP
	-1MP
	Prohibited
	Allies -1DRM in real snow countries


* Remove TAC air unit(s) for this turn, only.  Return to play next turn (depending on weather).

NUCLEAR DAMAGE EFFECTS

All Air and ‘soft’ Missile units in hex are destroyed when new strategic nuclear damage occurs

D1
Oil and Airfield facilities not available

D2
Oil, Ports and Airfield facilities not available. 1 ‘hard’ unit eliminated*

D3
Oil, Ind, Ports and Airfield facilities not available. 2 ‘hard’ units eliminated*

Damage on the Strategic map renders all corresponding ports on the European map unavailable (9.3)

*see 8.4 and 8.5 for targeting ‘hard’ targets

Tac Nuke markers block supply lines, render Ports unavailable

EUROPEAN TERRAIN EFFECTS

	Type
	Movement
	Combat
	Tac Nuke
	Notes

	Clear
	1MP
	-
	-
	-

	Forest
	1MP
	1 column left
	Elim top unit first
	-

	Mountain
	3MP*
	2 columns left
	-
	Mtn units 2MP

	Swamp
	3MP *
	1 column left
	
	Cav units 1MP

	City
	1MP
	-2 DRM
	-
	Garrison = 2

	River hexside
	
	-1 DRM
	
	Blocks ZoC

	Desert
	1MP
	-
	-
	Blocks supply line

	Alps / Switzerland
	prohib
	-
	-
	Blocks supply line

	Straits
	2MP
	-2DRM
	
	Blocks ZoC

	Block hexside
	prohib
	-
	-
	Blocks supply line


See optional ‘Strategic Map Nuclear Disruption’ table for possible additional movement costs.

Garrisons (16.4.2)
Strategic Map nuclear effects on Euro Map (optional 8.15)

	City
	2
	
	If hexes 1006, 1007, 1107, 1206 and 1305 total at least 4 NDM:

	Air / ASW base
	1
	
	Western player loses 2 TAC (one time only) 

	Oil / Industry
	3
	
	Western player –1MP, Soviet airborne Drop –1DRM

	Missile base
	1
	
	If hexes 0905, 1005 and 1105 total at least 4 NDM:

	Cuba
	4
	
	Soviet player loses 1 TAC (one time only)

	Israel
	4*
	(10 in 73)
	Soviet player only x2 MP in administrative movement (not x3)


Stacking Limits





Soviet ABM TABLE (optional –  see 8.14)
	European Map
	3 corps sized land units *
	
	Die Roll
	Result

	Strategic Map
	3 corps sized land units *
	
	1-2
	Missile attack fails

	
	1 bomber unit per airbase
	
	3-6
	ABM attack fails

	3 submarines
	2 bomber units if airborne
	
	ABM attacks can be made once per game, only 

	4 fleets
	2 interceptors
	
	against the first missile attack on Moscow (hex 0804)


* Markers, units smaller than corps and TAC air do not count against stacking.









